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(Theory)

Group–A

1.  Answer any four of the following questions : 12×4=48

(a) Discuss the nature and scope of comparative politics.

(b) What are the various stages of the development of capitalism ?

(c) Discuss the various features of socialism.

(d) Discuss the multidimensional consequences of globalization.

(e) Explain the concept and relevance of decolonisation.



(f) Explain the various features of the British Constitution.

(g) Mention the features of the Chinese Constitution.

Group–B

2.  Answer any six of the following questions : 2×6=12

(a) What do you mean by Eurocentrism ?

(b) Who has written the book : Political order in changing Societies ?

(c) What is Socialism ?

(d) What do you mean by colonialism ?

(e) Write the name of an important book written by Adam Smith.

(f) Mention the name of two theorists in Comparative Politics.

(g) Mention the name of two thinkers of Utopian Socialism.

(h) Mention two features of the Chinese Constitution.

(i) Who is the author of Poverty and un-British Rule in India?

(j) What is Mixed Economy ?

Santali Version

bibHagx- o

   o. jahaN ge PunYa. kukli reYag  Tela  ol me  - 12×4 = 48

o. Tulonamulok rajniTi renag PurkiTar tHaNw baboT
alOconaY me|

T. PuNjibaD lahanTi renag nana hunar PorjaY koDo ceD –
c e D ?

g. somajTonTrobaD renag nanahuNnar boYsisto ko iDikaTe
alOconaY me|

f. bissYon renag bohumaTrik PorinoTi iDikaTe alOconaY me|



l. Deodorisation DHarona ar Prosongo iDikaTe bekHYoY me|

a. ‘britis sofbiDHan’ renag nanahuna.r boYsisto ko renag
bYokkHYaY me|

k. ‘cin sofbiDhan’ renag boYsisto ko renag ullekH me|

bibHagx- T

T. jahaN ge TuruY gotaf kukli renag Tela em me :        2 × 6 = 12

o. ‘iYurOkenDrikoTa’la.Y Te ceD em bujHa.w a?

T. ‘Political order in changing societies’- nowa PuTHi Do okoYe ol akaDa?

g. ‘somajTonTro’ Do ceD kana?

f. ‘uPonibesbaD’ la.YTe ceD em bujHa.g a?

l. ‘edamsmiTH’olag miDta.f mohoTan PuTHirenag quTum ol
m e |

a. ‘komParetibH Politiks’ re barYa TaTTik kinag quTum
ullekH me|

k. ajgubi somajTonTro ren barYa bHabuk/ cinTasil
hozkinag quTum ullekH me|

j. ‘cin sofbiDHan’renag barYa boYsisto renag ullekH me|

m. Poverty and un-British rule in India – nowa PuTHi rinij onoliYa. Do
o k o Y ?

w . ‘mesa orTHoniTi’ Do ceD kana?

——————


